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W i R (B 46%

(m) 1000(43~1)m @ 20%

®) 100033 m @ 1% -l
(c) 100033 m : o N

@ 00fim - E:h wﬁaaﬁmmm@*ﬁ@;
u.wm%mwhtiﬂ 1

ﬂtﬁ‘fﬁm m

ﬁiﬁﬂ"iﬁ?ﬁ&ﬂ?ﬂiﬁimﬁmﬂ
. tﬁ!.ﬁa&:awmwﬂﬂrﬂflﬁta

R R R

@) 2¥3im . Yo 0

— = e L

® Wem | "'-".-*"' P W 12

(ey 3Im -1-.. - 1 i : 2 )

() ,.@Fn AR I m B gE i R, LA 4mTR

— e g 3 ot A, C= 2 i S R |

4, I:rhmmswh?ﬁmﬂmm it 7 100 m® S A, T A A

o prA T am A A A

,.,E, 3 urel dy A 6, ¢ AW e i
3 i wtgm 1
]| i— ) 2
(b) 204
] % .
e} 20S
5
) 2 @ 32
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49, In an efcotion 10% of the valers bn e
wogor fest odid nok cast their sate and
6 yoters cast thewr ballot papers blank,
There were only two candndates, The
winnee was supporied by 47% of wtal
volety m ie volér st ond e got Al
vores: madre hign hiv mval The numbes of
volers on the voter Tiss 1%

(=) F6bo
(b} a200
(o) 6025
() B0

-

Consider all prsisive tap digit Hﬁﬂ*ﬂ:

cach of winch when divided by 7 leaves

a remamnder 3. Wit is: their, sum 7

(g) 661

(B O6G -

() 676 P ' -

dy 79 b o

5l A w b Muer: crosssection s

sapplying waler fo & cistem which was

- mnum The area of oross-section

e 4 om® and the e veloeity of water

ﬁdﬂ mie The dimensiars of the distern
e Wmea8m«Gm Fiven the cislern
will he full in

{a) 95 hiriim

(h) 9 howr

fe) -8 howrs 20 mrinutes

(d) 4 hours

B-AHVB-O-GFL -
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52, A hollow eviindrion! dnem has intemal

b
T

digmieter af 30 em and & heipht ol 1 m
What f& the maximum number of
eylindnes| bimes of dumctor 10 omand
Pitlghn 10 cm each that con be packed
the i )

{n} Al
k) 70
{c) 8O

y o0 %

i

23 The speeds of tmﬁbﬁ hpﬁn ah:

mlin 243
mnmmwmms:im&mmmnh

; .inrhn"rlﬁn
[iﬁ _1:a=:‘.1

l'.|;'h} 4-3:2

(6} £-3:0

(@) 6:4:3

54, A squime il an cquilaters] mangle tave

equal perimeter, If the diagomul of the
syuare &5 1242 cnn then the nres of the
trifinple i

(3) 247 em’
) 2443 em®
{e) 483 em’

(i 643 em




49 ol waem 0 WA WAl i (004 e

F AT WA R O A 60 A A
S A W ww o W | e a
it 1 | e e T

AR & 47% W el e o =

A WhrE=1 # 308 W A wW w
s W W AR @ wen e
g 1

{a) 3600

)

(e) 628

(@) GBIy

5u.ﬂﬁ#ﬁmnﬁmmm

fe iy, Firr @ § o < 2R
P W) T T 39 | TR

] % Fl
(a) 661

() #66 .

(c) 6Tk
T o

I =

ﬂ-mﬁxﬁf:mmmm

s T I

‘ﬁﬂﬂﬂﬁﬁfﬂmvﬂﬂamﬂaﬁ

Fiem’ & o TR W g W (A
iR aoomis ¥ TR @ B

Ope8mx6m &1 3t 95 28 &
qyn A gl ¥

(a) 95 W

by ¥ =21

fc) & "z 20 fime

(d) & WE

1%

52, T HGW WATER TR OF) AT S

51.

Wi e afie St | b | WE 10 om ST
% 10 cm o1t = Fewaw w6,
=1 i = & @ 1 wwa &, i wEn
w2y

@) o
& 70
(©) 80

iy 0 b

e =l T 9H 293 fﬁm@i%l
ﬁwﬁmwmﬂimﬁm

_w.ﬂwrmﬂ'm=

b

@ .;?_m

) 4302

54.

ey &:3ih

iy o=4:3

ww i i o weaT, Fagw gl
wmr # | ofk wl = el 1242 emd,
UL G

(a) 242 e’
2443 em®
fe) 487 cm’
(@ 643 em’
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55,

56.

A boy is eyeling such thal the wheels
of the cyele are making 140 revislutions
per minute. I the cedius of the wheel =
M) emy the speed of the cyole is

{a) 155 lean/ Wt

(bl 1584 lami o

{e) 16 lan/hour

() 1636 kem/lious

There are 437 freit plants in an anchind
planted in rows. The disianée borween
any two adjacent mm-ta 2t and the
distange herween | amy! twe  adjacent
plants & 2m Fqsﬂ:rrﬁlﬂrhu the samc
nufiber of plint=- Thete fs | m cleatince
on all sides of the otehard AVhat'ls the
cosl of fencing the mrea gt the fle of

B 100G per mepe?
(a) R 15600 2
) Reitso & af

(¢) Rs 183008 . 9
(8 Move g fismsatiern is required

8% ABCO & n purallelogram with AF

L

CAE -

wf 0 ns-pdjacent sides: I ZA=60° and
240, then the diagonal B will be
uq.u_.nt 11

(a) 140

by 340

{e) 24D

(&) ZAD .

B-ABVB-O-GPU - A
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28,

The point & bs equidistint from the thres
siifes of o miangle ANC, Consider the
fisllonwing seatements ©

I Z04C + LOCR + £O8A = WP

L Z80C=21L84C

3. The perpenshoulars drawn fom any
poamt oo O fo A5 and AC g
always sgual

Which of the nbm':: !l;tlu:nmﬂ.lé.::
coresl 7 1

= L% 5

i) I:I.]ld!ﬂﬂ[j‘_.-” —F \
) 2 smd gty

(ol o

4 w T and 2
g

L Oinsilet e llowing statemisits ;

LI the benghl of & ovimder i
doubled, the caren of the corved
smfice is doubled

2 I the wliue of a lemisphertoul
dalid . doubled, s towm) sgeface
aren Becostes fourfold.

Wil of the above m.t.m'rnms- . are
comect

g} 1 oaly
() 2 only
{¢) Hoth | and 2

() Meithi= 1 por 2




55 T ogm oW weR anfEA i wm AR 58, B s Few Anc F A st @ |

avgfa & wfiE 140 whwam wia five g i & | Relfam s o faw
@i @ [l el o e d0em, T Hfi -
R T

|, ZOAC+ £OCR'« 2084 = %
() 155w/ -

1 2 ZBIN=27BAC
(b) 1584 km /=50
_ . x ﬁﬂhacqzmkfhﬁﬁg-#ﬂ%
() 16 km /52 m AW wE B B 1
1.:_} 1636 st /v T wE # W mfu
S6. 7% =R A 437 W A9 (a) % | W2

R 81 Rt e S |
ﬂﬁ@ 2man :;..-..:'_- _"-:.r .:'-"| [-b'] Ebm;
Rl SA e »

it e A R | -.

F SR 31 % 100 T R w
=5 &% W aE A W S T
{a) ® 15600 firifaflgs wamy o e it s

&) w1630 *{%@ |, ol o @ S o A

wwit &, W 98w AR

B
2. W T i 3 o fem @
BCO T T Wi b e ap imgfmlﬁﬂm-
Apywg yam § 1l Z4=607 dx e
A¥=240, T P 8D B Fowe e it 4 o /8w A 2
T
- ta) WA 1
W 240
e B (b 2
) ~34D
(ey 24D o) 1otk 2
@ 340 @ F 0,72
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al.

Bi.

A large waiet @k has the shape of 8
cule 17 128 ' of water iz puwped out,
the water level goes down by 2 m Then
the maomum camoty of the ok i

@ S

{b) 480 m"

o} 24y’

(@ 256w’

The civtumierence of & gircle 15 100 2m,
The side of lhe squire J.nn:nhud In the
cirtlo is '

(5 S22

()

(c) — m -

LI %

) e W
Il Y

l‘l'unw ﬁiﬂﬁi Md e the formy of a
cube of i i lemygth | em, spherical solid
'}ll: havirg the surfice area

© 1 e’ ave 10 be made Adsimiig (hat

B-A

“ithere 1 no bos of the madertal in fhe
process  of making  the  balls,  the
srxanmam mamibes of balls made will be
= 3
(b) 4

{c) o

) 0
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63, Witér iz filed in o conaifer in such a

i
L Sunement 1]

manner that i volimie dosbles: every
S ommutes, [T 0 talees: 30 fomotes for e
contmner fo be full, i how much time
will it be one-fourth full ?

] T35 nunatgs
) 15 mumies
(e} 2 minutes

(1S mimins

a0 memlle ¢yimders ol sarme mm& 5

melted and ¢ast m the formiof | opncs

having the sume wcing *Lwlﬂﬂhi';u
those of the cylindae |

ol ing getements

'ﬂm:q:nﬂml . Kmnxunmuf'jﬂm

= will be ohimmed

T eveved srfece of the
wylinder can b finttenind
im the ehapie of sretingle
hut the erved surfaee of
tha gotee when larenaed
has the shapo ol tnasgle:

Which tme of the fallowing is cmee in
respes) of tho above 7

Botk Ststement -and Stulewent 11
are. correct. Eml Satentanl 1 e the
carmest explamation of Sttement |

LN

b Both Starement 1 and Smiement [T
o correct amd Staterment (1 & ot

the compet explanmtinn of Smatethem |

Simrnmem I i correct but -Stofe-
eril 11 be mar coreot

{©)

Slutemetl | bw #mpr comest bt

Stmtement [1 13 corroot
L]
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60, TF = TA A T W wmn o ue

6l.

62 1 om

T \

-

w & 1 aft o 8 128w’ W e S

SR, WA T 2 Al e W

| T R steew om0

(W} 512m’

(b} 480 '
@ 324m
[dJ.Btim*
L G 2 100 cm 8 | g9 # WA
s 0w owoEig
(3 5043 em -
ihi L om ' s
P .
fel 042 € =
® 15.!.‘_
. o |Ii -?.. Cl iyl
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= SN
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ﬁm%maﬁ

. B e

fi. f‘iﬁ“ 219 o 8, ot 9 § 1 S
Tl

ﬁmﬁ#mmﬁma
mﬁiﬁ?ﬁﬁﬁt.ﬁﬂﬁﬁm
W T OB 7 ;

() 3
W 4
c) 6

iy W

. R A T W

63, fodl T & mer W s s war @

fe w5 fiv 3 o wEem Sop @
s # 1 w8 R i qu w3 a0 e
& @ e o W T o=t

Sy =2
(3) 75 Fz
by 15 Tz
{c) 20 Py
) 175 B

? ol am F e 2

ﬁmm‘h{ﬁ*‘ "
m:ﬁ%;{“‘ ----*

F. ‘ 0
'llf 'm?‘:axﬁrﬂﬂ wd§mﬁﬁh|
-.I(Ew}ll B w7 ARYE 0% S §

s # e m
T W W e
B owrn @ A e
AT R
3 o Hee | Tenafam 6 8 @ W
= o 7
(u) W [ oswewe AR e el
w1 sE | ud e A
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¢
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65, An cquilateral wimngle HOC s drawn
imsde & sguare ABCD, Tf angle
AOQD =20, what & tanf equal

() 2-43
b 12
(¢) 4-+3
@ 2«41

6. The dizmeier of o wheel ot makes
4352 rovolutions 0 move 2 km and
26 decamatie i3 oqual )

RO E-S

iy 14 m

(e), 22 m

(dy 23 m =1 L 2

&7

IV X i4 sy phingWithin aisauire ABCD
and on'AX 3 squarc AXY7 iz desoribed,
-wh:@ﬂﬂﬂﬁng ladare comeet ?
| L BEEDE or BZ= DY

2 LABX =LADZ or £ADY = £ ARZ

Select the cofec! aneswer amng the
code piven below

(8) 1 only

ib) 2 omly

(e} Both | und:2
{4} Neither | por 2

B-ABVEB-O-GPU - A # L]

68, The two sdjcent side of 2 cyolic
guidrilstetil are 2 am aml 5 em 'dnd i
unythe between themn i 607, 11 the third
side 1 Jem, then the fourth wde i of

longth
(o} 2 om
(b} 3 em
() 4 cm
(d) 5 acm
69. Lot A denote the st of quidrigterals -

having two diagonals oquel aod bsesting
each other. Let B mmsfd'

sjussctri kidersils | i
sach other q»m At demotes

) e et Wmﬂm

{h),, the-ast of thambuses

e} “the et ol squared

() the s ol rectinglues

70, A wqusre 15 iscribed moo nght mangle
with legs 5 md ¢ and Fas commem rihi
angle with the miangle Tlhe perimeter of
the siare il gived by

{ﬂ' ﬂ
Yty
4x¥

] -

(o) —2 .
..'lllj;?-n-}l'

[dl dgy :
i =5

1\




65, o gmaE @ gocww s Ascn
F sw s fen = b)) wm
AQD =20, # ang fEw TR S 7

@ 23
(o) 1s4/2
ey #-43
[y 2443
66, afed o, =R 2 km o 26 T
s # 452 afmem e @, = A § ¢

(&) 1% m

) Hm
(€) 2= m

(@ 24 m

. ':" _,\-"
07, X, W0 ARCDE W = Bl
W ﬂ%wm?% Pt
| Frerfaflia s 3t v /% ¢
L B¥- Dz Bz oy
- el

8 L2 2ABY=24PZ M £4DK= £4BE
- -k =]

*':"i.'., "#ﬁfﬁ&.nﬁ?mn&mﬂnﬁm
h['_ﬂ'i - e

e 8) =9 |
t) 2

) FTALTE2

o

68, < wphe 4 2 o EAE 2em
Jﬁtiunm!m?ﬂﬁﬁfiﬁiﬁmﬁaﬂ
60° & | i 3 W 3 em B, At sl
WAt & Al w2
[g) 2 em
() 3 cm
(e} 4em
(d) 5 em o

| _ Y
9. ST AT AT T AT i .
ERTOEC

T g, R st
1 AR g § 0

. U T, 3 A p I TR TS wE
frga & wmifam B s B ofie Bep
71 R 3 W oy s e
v wiwm w f o7

Ixp

o ==

o —2
£+)

(el 2
Je by

)
= =y
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71

T3

T A wwlﬁ

Fromy o roctmnzuinr sheet of wdes 18 om
il 14 em, a senvcinlar porikin with
sealler ghde us diameter {f taken out,
Thep. 'the -ares of the remaining shedt
will be

(o) 98 emt
(o) 100 em’
gl 108 em’

dy 175 em’

ARCI) |5 & Squarc l{__‘ﬂmn'ﬂm,ﬂ amad
€1 are mereased hhﬁ ﬁgw
Al are ingreassd Hies
of the resiliing m@ﬁh mﬁaﬂk‘&n

aren of | the squm‘h:.!t

() S0

thy & |
P i) =

) 4% "!.- T "'.':.*-ﬂ" +

{d) mﬁ' . %9

||

?np-crn at e Ao, is Hemi

., :.plu:ttﬂ the botimi and eylindrical

o nbove L The m.ilut i 13m and the

kempacity 13 353122 ', The mtio of the

worface. mreas of the sphorical - and
-::.rlhtdi_l-c:!_pwﬁnlﬂ is

tw) 3:-%
(b) 4:5
) 1:1

) 6:35
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T4, The argas of three memeally perpendi-

™=

76,

ctilar foges of 2 ciboid are 1, 9, 2 I
¥ s the volume, then oz 18 equal 1o

) ¥

v

)y 2¥
i@ 2

Let ¥ be the volums of o fpverted cong.
with veiten al origin unl.lllhl:iuhu;%_'.

cone i hlong posdtive y-aiis. Theiboos

mhdmmwmﬂupg;mwmﬂ. .

The volume of wmm;;}!‘ 3

in .
b

@ <

()

Three rectingles Ry, R, il R v (he
sameg area. Their lengths ©, x, mmd 1,
neapectively ae. such that x, < x, < x
it Fi. ¥y el ¥y are the mlm'nm al
!h:--c}rl'ml.h'u (e B reuiungles

R, &, and R, respectively by joining the

parallel dides slong the hreadth, then
whigh ome of the following w oomest 7

fa) Vi< ¥y <¥
ﬂ\] ;rl . F; o Frl'
[ ¥y< =<,

BV A A




|I" F

I
;I | ‘1.‘;.

.

b |

. '..". l.':,:

A & W mw A Femn d ) 0
W 12md @R e 3512 mt &
i i S et & gdm e
O T R )

(x) 3:%

) 43

ed 141

iy o:%

18 em SR 1 om 3 SprE e SRR
ST W, T v i i i
=7 T Foemm = & | A ef S
Ul

() 9% em?

) I g

fe) 108-em’

@ 175 ¢’

. ABCOYE i § | aft gy 4830t €p
2 300 3 1 s, St BC S AD
# 20% 5T & 7, ﬁﬁh‘}nﬁ; jn
) S0 '

(by s2% 1:"“:'
a ' Al
‘.ﬂ! m -‘:.I t- -!t *-.l_\
L %Y
), 55@.__\‘-. L 1'-“ L W

11

74, E TR & T AR v & S

PR I T R .

T R Y

fa) ¥
m ¥
fe) A
dy 287

(i}

Th WF WER R, R, o R, s

B | =t FamE| = 2, T 2,
i e N AL il
R R, W R, o St A wm g
it TR ST AT & st
Vi, ¥, o v, 3, 7 Bl @ & S
Gl

B V< ¥ =¥

by =t < I-':I

(&) ¥y=< Fy < ¥}

f.d." F1{ r"‘l o F..‘

B-ABVB-ALGPL - A




]

77, Il the surface aren of m-oubeas 13254 am,
then the tength of its diangomal &

(a) 4442 emn
(b} 4443 om
(€} 472 em
@) 4747 em

78. The srea of a tmpezivm iz 336.0m”. If
fip pralled sides are im the mtio 5; 7 and
the perpenificular distmmees betwern hem
i 14 em, then the mu]]ﬂﬁthpn]kl

lm:lni.s

(a) 20em
iy ZZem ¥
(¢) 24 ém
@) I6em

79, How miny spherical bullagseacHiof -

4 ¢m in digmieter o mﬂis t]i‘l.ﬁl'fl
cube of lead, whoss, & m,q-l em™

w N
o) B

e) 2500

L@ B

B0 A river 25 m desp und 45w wide [
flowing at the speed of 34 kini/hour

Thie Amodnt of water that mins fnto the
HEd per T 1h

() 6650 m’
() 6750 m
(¢} 6850 m'
(d) 6850 m'

B-ABVBE-O-GFU - A

A

M "

AR 20 e depimont of length 2o, with
M i mid-point. Semicircles aro doawn
on e gide with AM, MT and AR a0
dinmeter s abown in the dbove § !'g;gq

A eimele, willy cenfre € and rulildr B

dawn mich that thisg .ﬂmw?!ﬂ
the three semicirclen, The Walde of s

(2]

!-ﬂ i

3 ¥ 5

.Tmﬁ

()

aL

'

rl D

From un extermal point P tangents A4

wnd PR oo down o the cimele as
shown ‘in the -above. figure. D i the
wangen W the cirole at K. (AP =16om

then the penmeter of the tremgle FOD is
equil to

()
]
{¢)
G

4 cm
25 cm
A0 em
22 om




71, off o
B wE f

{s) 4342
by 243

§

TR SHER 13254 on®
o gt

() 4742
(y 2743

5553—{

W A 47 S A 2 ol 5
@t W w14 om B, A et
S 0 o o ok
fa) 20 cm i
W 22 em
. (e)' 24 cin

(dy 26 em

79. #itt ® 0= vy B, el g agn

.:mwmaﬂrr—-ﬁmm

o 82 %

@ ZML*._-W? a\)

m}&a- N T

Ir:} Lﬁ?L
__Jﬁ]} 257

%*?Egr

_a

J 90. 25 i TR SR 45 e St o 36 i/

T TR A A am A i =y
i e e & el oo g,
Rl

) 6830 m
b 67 "
le) 6850 m'
(dy Bus0 't

. T HEA B GEER 336 o’ B | wfe el

AR =HTE 209 v Toves f, Fawsr gm
Ty 0o 2 1 3 e s fo Al il
T 10T W T TR AM, MB 3 4R
m#wﬁﬁﬁmtlw \
ﬁﬂ[r‘:ﬁﬂjﬁ'{a‘u E
?ﬁ-‘ﬂuaﬁrﬂ'ﬂ ﬁv&f :
§1 r AR "!
1a. ¥

_ ‘.'EI}I_::?_'. _[_’;[!

Tﬂﬂ“kﬁaﬁmﬁ&ﬂpﬂrw'
Tawt B oo pR e s @ dn &
W f w8 ¥ G
e D e R | i A2 = 16 6m
a1 i PCD wr e = # 7

{a) 24 gm

(k) 2% cm
{c) 30 ey

i Bem
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In e above figure, AACE 15 0 pamiieio-
pam. F s o point on SO mich thar
PE.PC=1:2 DP and AR when both
prodduced meet ot @ 17 ares of trangle
ARG in 20 sguare imit, the gren of
trangle DCF e

{a) 20 squasrs uni
(b} 30 square umt
() b squpre uni

(M) WNone of the abave

84, Choerd CD |n1ﬂ1mb1h¢“
a clivle ot
ratio 1 -2 If
Fqiwm i

i e

{’tlﬂmisj:!' then
. “ifu) Lo g
A" =

el

(4

B-ABVB-O-GPU - A

in

85. A wirele of mdws - i seribed o a
regulir polymon with & gides (the circle
tipehes all sides of the pulvgoal, 1£ the
perimeter of the palygon is p, then the
ated of the polysun is

(a) ([p+ :_Jr

L )

u — T
@3

(d) Mone of the obee

(1

L

v The 1O, mm s 12 omes
I.hr-'lr HﬂF i of HEY aod LOM
ll-!fI I :llﬂqﬁﬂ'ﬁ: mumbess (s 9% then

#ﬂgu murnber

' ' '[u}"'m

(b} 128
(=1 124

() 138

87. The value of (F63+03T) s

(|
LK)
{b) ﬁ

L)
o) —
i’ i
]

di
{ a4

nr =




w5 om A ABCH v W =gdn 8 |
P, BC T ww Ty e owww £ fr
P PC=1:2% | DP IR ARTH T3
(e foerdr # | i e ppo
Wi gpen 203 gl 2,4 Fega Dop
AT A R

{a) 207 ==k
ih) 30T
(e) 40wt v
() I % i =rf = |

—

. mwgﬂ%wﬁﬁﬁﬁ*
Aafrvara

mmwﬁ%
mﬂj"’fﬁmmmﬁi aen

W! >

Lod

3

{d)

3

" B8, p IS WA T weAnA i we e
U= s A () weee R owe
wital @ Wl wen #) | 3 g W
i p 2, o e )

2} fpenk
(b} (2Zp~myr

o) — ==

() aqqmﬂaﬂaﬂﬁ

i

o 2
:uamﬁ

| “ﬁ-’?ﬁ’i‘ﬁiﬂ'{-ﬂ
%m‘r W 4oxd |

'l-
W 12
(b) 128
e} 134

(d)y 138

87, (WS4 057) w1 owm w22

(s} |

104

(b) o

100
L

(el

(dy 300y
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